

Title	On compatible regularizing data for second order hyperbolic initial-boundary value problems
Author(s)	Milani, Albert; Shibata, Yoshihiro
Citation	Osaka Journal of Mathematics. 1995, 32(2), p. 347-362
Version Type	VoR
URL	https://doi.org/10.18910/3979
rights	
Note	

The University of Osaka Institutional Knowledge Archive : OUKA

https://ir.library.osaka-u.ac.jp/

The University of Osaka

ON COMPATIBLE REGULARIZING DATA FOR SECOND ORDER HYPERBOLIC INITIAL-BOUNDARY VALUE PROBLEMS

ALBERT MILANI and YOSHIHIRO SHIBATA

(Received October 19, 1993)

1. Introduciton.

It is well known that a necessary condition to solve an initial-boundary value problem in a proper domain of R^n is that the data of the problem satisfy, at the boundary of the domain, compatibility conditions of a certain order, which generally depends on the regularity assumed of the data, and required of the solution. many situations, one is led to consider approximations of the solutions, obtained by solving problems with more regular data; thus, one needs to construct more regular data that not only approximate the given ones, but also satisfy compatibility conditions of higher order. A typecal example occurs when, in order to prove the existence of a solution to the original problem by means of energy methods, one first establishes the required energy estimates on more regular solutions (which it is possible to differentiate), and then resorts to a density argument. This is, for instance, the method followed by Ikawa, [8], and Shibata, [16], for linear hyperbolic equations of second order with Neumann type boundary conditions, and by Dan, [6], for a linear coupled hyperbolic-parabolic system, again with Neumann boundary conditions. A similar situation was considered by Rauch and Massey, [15], while proving the regularity of solutions to a linear first order hyperbolic system, under general boundary conditions.

More recently, Beirao DaVeiga ([1,2,3,4,5]) presents and develops a general method to prove the strong continuous dependence with respect to the data of solutions to nonlinear hyperbolic problems, including the nonlinear Neumann problems considered by Shibata-Kikuchi, [18], and Shibata-Nakamura, [19], as well as several systems of nonlinear fluid dynamics; in particular, the model nonlinear Neumann problem

(1.1)
$$u_{tt} - \operatorname{div} A(\nabla u) = f(x, t) \quad \text{in } \Omega \times]0, T[$$

$$u(x, 0) = u_0(x), \ u_t(x, 0) = u_1(x) \quad \text{in } \Omega$$

$$v \cdot A(\nabla u) + b(u) = \phi(x, t) \quad \text{in } \partial\Omega \times]0, T[$$

with $\Omega \subset \mathbb{R}^n$ bounded open domain with smooth boundary $\partial\Omega$ and (small) T>0 is considered in [3]. DaVeiga's method is partially based on a regularizing procedure for the linearized equations, and the required compatible regularizing data are constructed by adapting the procedure of Rauch and Massey; this essentially consists in approximating all data in a standard way, and then modifying one of the regularized initial values so as to satisfy the compatibility conditions (this is also the method followed by Ikawa and Shibata). As another application of his method, in [4] DaVeiga shows the strong convergence, under certain conditions, of solutions of the compressible Euler equations to that of the incompressible ones; in a similar way, we can consider, as in [11], the convergence of solutions to the dissipative quasilinear hyperbolic equation

(1.2)
$$\varepsilon u_{tt} + u_t - \sum_{i,j=1}^n a_{ij}(u, \nabla u) \partial_i \partial_j u = f(x,t)$$

to the solution of the corresponding limit parabolic equation

(1.3)
$$u_t - \sum_{i,j=1}^n a_{ij}(u, \nabla u) \partial_i \partial_j u = f(x,t)$$

as $\varepsilon \downarrow 0$: in the case $\Omega = \mathbb{R}^n$, weak convergence is proved in [11], and strong convergence in [12].

All these results on the nonlinear problem are obtained by the usual method of linearizing, and constructing compatible regularizing data for the linearized equations; thus, the problem of such construction under minimal regularity assumptions on the coefficients is of fundamental importance. In this respect, the mentioned results of Ikawa, Rauch and Massey, Shibata and Dan are not optimal, in that the regularity of the coefficients makes their results unsuitable for direct application to the corresponding nonlinear problems; in fact, DaVeiga explicitly shows in [1] and [5] how the procedure of Rauch and Massey can be suitably adapted, so as to be applicable to the nonlinear problem.

With these motivations in mind, in this note we present a simple, direct and selfcontained method to construct compatible regularizing data in the two model cases of a linear second order hyperbolic equation, with Dirichlet or Neumann boundary conditions, under the minimal regularity assumptions of the coefficients that are sufficient for applications to the corresponding nonlinear problems. More precisely, we consider the problems

$$u_{tt} - \sum_{i,j=1}^{n} a_{ij}(x,t)\partial_{i}\partial_{j}u = f(x,t) \quad \text{in } \Omega \times]0,T[$$

$$(1.4) \quad u(x,0) = u_{0}(x), \ u_{t}(x,0) = u_{1}(x) \quad \text{in } \Omega$$

$$u(x,t) = 0 \quad \text{in } \partial\Omega \times]0,T[$$

and

$$u_{tt} - \sum_{i,j=1}^{n} a_{ij}(x,t)\partial_{i}\partial_{j}u = f(x,t) \quad \text{in } \Omega \times]0,T[$$

$$(1.5) \quad u(x,0) = u_{0}(x), \ u_{t}(x,0) = u_{1}(x) \quad \text{in } \Omega$$

$$\sum_{i,j=1}^{n} v_{j}a_{ij}(x,t)\partial_{i}u(x,t) = \phi(x,t) \quad \text{in } \partial\Omega \times]0,T[$$

where v is the outward unit normal to $\partial\Omega$; as an application, we shall show how our method can be used to give a direct, simplified proof of DaVeiga's result on the strong well-posedness of the quasilinear Neumann problem (1.1). The Dirichlet problem could be treated in a similar way (for an alternative, simpler method, see also [13]). Finally, we would like to remark that our method should be sufficiently general to also apply to parabolic equations; for instance, following a similar technique, in [10] we prove the strong well-posedness in the large for Sobolev solutions of (1.3) with Dirichlet boundary conditions. Although we have not checked the details, we believe it should also apply to first order systems, as considered by Rauch and Massey, [15], thereby recovering the improved results of DaVeiga, [1].

2. Notations and results.

Let $\Omega \subset \mathbb{R}^n$ be a bounded domain, with a smooth boundary $\partial \Omega$, whose outward unit normal we denote by v, and T>0; we consider in $Q=\Omega\times]0,T[$ the linear hyperbolic initial-boundary value problems (1.4) and (1.5) for $u=u(x,t)\in \mathbb{R}^n$, with $u_t=\partial u/\partial t$ and $\partial_j u=\partial u/\partial x_j$. Following the theory developed by Kato in [9], we consider solutions with values in Sobolev spaces; thus, given $m\in N$, we set $H^m=H^m(\Omega)$, $H^m_*=H^m\cap H^1_0$ if $m\geq 2$, and note $\|\cdot\|_m$ the norm in H^m , $\|\cdot\|$ the norm in $H^0=L^2$. Similarly, we set $\tilde{H}^r=H^r(\partial\Omega)$ and note $\|\cdot\|_m$ its norm. We also set

$$X^{m} = \bigcap_{j=0}^{m} C^{j}([0,T]; H^{m-j}), \qquad X^{m}_{*} = \bigcap_{j=0}^{m} C^{j}([0,T]; H^{m-j}_{*}),$$
$$\tilde{X}_{r} = \bigcap_{j=0}^{[r]} C^{j}([0,T]; \tilde{H}^{r-j}_{*}),$$

and endow these spaces with their canonical norms, noted $\|\cdot\|$, $((\cdot))_r$: that is, we set

$$|||u|||_{m}^{2} \doteq \max_{0 \le t \le T} \sum_{j=0}^{m} ||\partial_{t}^{j} u(t)||_{m-j}^{2},$$

$$\langle \langle \langle u \rangle \rangle \rangle_{r}^{2} \doteq \max_{0 \le t \le T} \sum_{j=0}^{[r]} \langle \langle \partial_{t}^{j} u(t) \rangle \rangle_{r-j}^{2}.$$

We assume that the coefficients $a_{ij} \in X^s$, with integer $s \ge \left[\frac{n}{2}\right] + 2$, so that in particular $a_{ij} \in C^1(\bar{Q})$; that they are symmetric and strongly elliptic, i.e. $a_{ij} = a_{ji}$ and

(2.1)
$$\exists \alpha > 0 \ \forall (x,t) \in \overline{Q}, \forall \xi \in \mathbb{R}^n, \ \sum_{i,j=1}^n a_{ij}(x,t) \xi^i \xi^j \ge \alpha |\xi|^2.$$

In the sequel, we shall assume $\alpha = 1$, and abbreviate

$$\sum_{i,j=1}^{n} a_{ij}(x,t)\partial_{i}\partial_{j}u \doteq a(x,t)\partial^{2}u;$$

also, whenever it makes sense, we define

(2.2)
$$u^{2}(x) \doteq f(x,0) + a(x,0)\partial^{2}u_{0}(x).$$

To describe the compatibility conditions on the data, necessary to solve the Dirichlet problem (1.4), we introduce the spaces

$$\mathcal{D}_1 = \{(u_0, u_1, f) | u_0 \in H^2_{*}, \ u_1 \in H^1_0, \ f \in \text{Lip}([0, T]; L^2)\},$$

$$\mathcal{D}_2 = \{(u_0, u_1, f) | u_0 \in H^3_{*}, \ u_1 \in H^2_{*}, \ u_2 \in H^1_0, \ f \in X^1, \ f_t \in \text{Lip}([0, T]; L^2)\},$$

and we say that $\{u_0, u_1, f\}$ satisfy the compatibility conditions of order one [two] if $\{u_0, u_1, f\} \in \mathcal{D}_1$ [\mathcal{D}_2]; note that, indeed, $u_2 \in H^1$ if $\{u_0, u_1, f\} \in \mathcal{D}_2$, while if $\{u_0, u_1, f\} \in \mathcal{D}_1$, then in general $u_2 \in L^2$ only, so it does not necessarily have a trace on $\partial \Omega$. Analogously, for the Neumann problem (1.5), we say that the data $\{u_0, u_1, f, g\}$ satisfy the first or second order compatibility conditions if they belong respectively to the spaces

$$\begin{split} \mathcal{N}_1 &= \{(u_0,u_1,f,g) | u_0 \in H^2, \ u_1 \in H^1, \ f \in \operatorname{Lip}([0,T];L^2), \\ & g \in \operatorname{Lip}([0,T]; \widetilde{H}^{\frac{1}{2}}), \ a^{\text{v}}(x,0) \partial u_0(x) = g(x) \} \\ \mathcal{N}_2 &= \{(u_0,u_1,f,g) | u_0 \in H^3, \ u_1 \in H^2, \ f \in X^1, \ f_t \in \operatorname{Lip}([0,T];L^2), \\ & g \in \widetilde{X}_{\frac{3}{2}}, \ g_t \in \operatorname{Lip}([0,T]; \widetilde{H}^{\frac{1}{2}}), \\ & a^{\text{v}}(x,0) \partial u_0(x) = g(x,0), \\ & a^{\text{v}}(x,0) \partial u_1(x) + a^{\text{v}}_t(x,0) \partial u_0(x) = g_t(x,0) \}, \end{split}$$

where we have abbreviated

$$\sum_{i,j=1}^{n} v_{j} a_{ij}(x,t) \partial_{i} u \doteq a^{v}(x,t) \partial u;$$

again, note that if $\{u_0, u_1, f, g\} \in \mathcal{N}_2$, then $u_2 \in H^1$ and the two conditions at the boundary make sense in $\widetilde{H}^{\frac{1}{2}}$, while if $\{u_0, u_1, f, g\} \in \mathcal{N}_1$, then in general $u_2 \in L^2(\Omega)$ only, and only the first condition makes sense in $\widetilde{H}^{\frac{1}{2}}$.

It is well known then that, under the stated assumptions on the coefficients, to solve the Dirichlet and Neumann problems (1.4) and (1.5) it is necessary and sufficient that the data satisfy the compatibility conditions; in fact, setting $D^2 \doteq \{\partial_t^j \partial_x^\alpha; j + |\alpha| \le 2\}$, we have the following theorem.

Theorem 1. Let i = 1, 2. Given any $\{u_0, u_1, f\} \in \mathcal{D}_i$, there exists a unique $u \in X^{i+1}$, solution of (1.4). Moreover, there exists M > 0, depending on T and $|||a|||_s$, such that $\forall t \in [0,T]$

(2.3)
$$||D^2u(t)||^2 \le M\{||D^2u(0)||^2 + ||f(.,0)||^2 + \int_0^T ||f_t||^2\}.$$

Proof. See e.g. Kato, [9] (II, 10.1), and Ikawa, [7] (Prop. 2.6).

Theorem 2. Let i=1,2. Given any $\{u_0,u_1,f,g\} \in \mathcal{N}_i$, there exists a unique $u \in X^{i+1}$, solution of (1.5). Moreover, there exists M>0, depending on T and $|||a|||_s$, such that $\forall t \in [0,T]$

Proof. See Shibata, [16](sct. 4). We recall that the second order estimate (2.4) is a consequence of the first order estimate

$$(2.5) ||u(t)||^2 + ||Du(t)||^2 + \int_0^t \langle u_t \rangle_{\frac{1}{2}}^2 \le M\{||u_0||_1^2 + ||u_1||_0^2 + \int_0^t ||f||^2 + \int_0^t \langle g \rangle_{\frac{1}{2}}^2\},$$

where $D \doteq \{\partial_i, \partial_t\}$; estimate (2.5) was first established for solutions of (1.5) by Miyatake in [14]; (2.4) follows then by regularization, differentiation in t, and ellipticity.

We now address the following question for the Dirichlet problem: given $\{u_0, u_1, f\} \in \mathcal{D}_1$, construct a sequence $\{u_0^{\lambda}, u_1^{\lambda}, f^{\lambda}\} \in \mathcal{D}_2$ such that, as $\lambda \downarrow 0$,

$$||u_i^{\lambda} - u_i||_{2-i} \to 0, \qquad i = 0, 1, 2$$

(2.7)
$$||f^{\lambda}(.,0) - f(.,0)|| \to 0, \qquad \int_{0}^{T} ||f^{\lambda}_{t} - f_{t}||^{2} \to 0,$$

and, calling u^{λ} the solution to (1.4) corresponding to $\{u_0^{\lambda}, u_1^{\lambda}, f^{\lambda}\}$ (so that $u^{\lambda} \in X^3$),

$$(2.8) |||u^{\lambda} - u||| \to 0.$$

Similarly, for the Neumann problem, given $\{u_0, u_1, f, g\} \in \mathcal{N}_1$, we want to construct a sequence of data $\{(u_0, u_1^{\lambda}, f^{\lambda}, g^{\lambda}\} \in \mathcal{N}_2 \text{ such that, as } \lambda \downarrow 0, (2.6) \text{ and } (2.7) \text{ hold, together with}$

and, with the analogous meaning of $u^{\lambda} \in X^3$, (2.8) as well.

Our goal is to show that the stated assumptions on the coefficients a_{ij} are sufficient to construct such compatible regularizing data; in fact, we claim:

Theorem 3. Given any $\{u_0, u_1, f\} \in \mathcal{D}_1$, there exists a sequence $\{u_0^{\lambda}, u_1^{\lambda}, f^{\lambda}\} \in \mathcal{D}_2$, such that (2.6), (2.7) and (2.8) hold.

Theorem 4. Given any $\{u_0, u_1, f, g\} \in \mathcal{N}_1$, there exists a sequence $\{u_0^{\lambda}, u_1^{\lambda}, f^{\lambda}, g^{\lambda}\} \in \mathcal{N}_2$, such that (2.6), (2.7), (2.8) and (2.9) hold.

As we mentioned, the regularity $a_{ij} \in X^s$ assumed of the coefficients is precisely the minimal one sufficient for applications to nonlinear problems; actually, since we only need that $a_{ij} \in C^1(\bar{Q})$ (while Ikawa, [8], and Shibata,[16], assumed $a_{ij} \in C^2(\bar{Q})$), it would be sufficient to assume that $a_{ij} \in C^0$ ([0, T]; H^s) $\cap C^1([0, T]; H^{s-1})$. As an application, we shall indicate how to merge our method with DaVeiga's one to prove the strong well-posedness of the nonlinear Neumann problem (1.1) (with, for simplicity, $b \equiv 0$); thus, under the usual assumptions on A, which we shall recall in section 5, we claim (compare to [3], Theorem 1.1):

Theorem 5. Let $f,g \in Z^s(T) \doteq X^{s-1} \cap C^s([0,T];L^2)$; $\phi,\psi \in \widetilde{Z}_s(T) \doteq \widetilde{X}_{s-\frac{1}{2}} \cap C^s([0,T];\widetilde{H}^{\frac{1}{2}})$; $u_0,v_0 \in H^{s+1}$; $u_1,v_1 \in H^s$ be such that $\{u_0,u_1,f,\phi\}$ and $\{v_0,v_1,g,\psi\}$ satisfy the compatibility conditions of order s (to be recalled explicitly in section 5). Let $u,v \in X^{s+1}(T')$ $(T' \in]0,T]$) be the local solutions to (1.1), corresponding to such data. Then, given any $\varepsilon > 0$, there exists $\delta > 0$ such that, if $|||f-g|||_s^2 + \langle \langle \langle \phi - \psi \rangle \rangle_{s-\frac{1}{2}}^2 + ||u_0-v_0||_{s+1}^2 + ||u_1-v_1||_s^2 \leq \delta^2$, then $|||u-v||_{s+1} \leq \varepsilon$.

(We recall that local in time solvability in X^{s+1} for (1.1) under the stated assumptions on the data is established by Shibata-Kikuchi in [18]; see section 5).

3. Peoof of Theorem 3.

We start with the following technical result:

Lemma 1. $H^{\infty} \cap H_0^1$ is dense in H_{*}^2 .

Proof. Given $u \in H^2_*$, let $\{v^{\delta}\}$ be a sequence from H^{∞} , such that

$$||v^{\delta} - u||_2 \to 0.$$

To correct v^{δ} at $\partial\Omega$ so that its trace is zero, we define w^{δ} to be the solution of the elliptic problem

(3.2)
$$\begin{aligned} -\Delta w^{\delta} + \lambda w^{\delta} &= 0 & \text{in } \Omega, \\ w^{\delta} &= v^{\delta} & \text{on } \partial \Omega. \end{aligned}$$

Indeed, (3.2) has, for sufficiently large $\lambda > 0$ (which can be chosen independently of δ), a unique solution $w^{\delta} \in H^{\infty}$. Then $u^{\delta} = v^{\delta} - w^{\delta} \in H^{\infty} \cap H_0^1$; and since $u^{\delta} - u$ solves the problem

(3.3)
$$-\Delta(u^{\delta} - u) + \lambda(u^{\delta} - u) = -\Delta(v^{\delta} - u) + \lambda(v^{\delta} - u) \quad \text{in } \Omega,$$

$$u^{\delta} - u = 0 \quad \text{on } \partial\Omega,$$

it satisfies the elliptic estimate

$$(3.4) ||u^{\delta} - u||_{2} \le c\{||u^{\delta} - u|| + ||(\Delta - \lambda)(v^{\delta} - u)||\} \le c\{||u^{\delta} - u|| + ||v^{\delta} - u||_{2}\}.$$

From (3.3), using (3.1), we see that $||u^{\delta}-u|| \to 0$ as $\delta \downarrow 0$; thus, from (3.4), using again (3.1), we deduce that $||u^{\delta}-u||_2 \to 0$.

Since $C_0^{\infty}(\Omega)$ is dense in both L^2 and H_0^1 , by Lemma 1 we can choose sequences $\{u_0^{\lambda}\}$, $\{u_1^{\lambda}\}$ and $\{u_2^{\lambda}\}$ from $H^{\infty} \cap H_0^1$ such that (2.6) holds as $\lambda \downarrow 0$ (again, note that u_2 is defined, by (2.2), in L^2). Following Ikawa, [8] (sct. 3), by mollification in t we can also construct a sequence h^{λ} from $C^{\infty}([0,T];H^{\infty})$ such that

(3.5)
$$\int_{0}^{T} \|h_{t}^{\lambda} - f_{t}\|^{2} \to 0$$

as $\lambda \downarrow 0$, holds. Define

(3.6)
$$l^{\lambda}(x) \doteq h^{\lambda}(x,0) - u_{\lambda}^{\lambda}(x) + a(x,0)\partial^{2}u_{0}^{\lambda}(x)$$
:

then, since $a(.,0) \in H^s$ and $s > \frac{n}{2} + 1$, $l^{\lambda} \in H^1$. Define further

(3.7)
$$f^{\lambda}(x,t) = h^{\lambda}(x,t) - l^{\lambda}(x) = h^{\lambda}(x,t) - h^{\lambda}(x,0) + u^{\lambda}(x) - a(x,0)\partial^{2}u^{\lambda}(x)$$

then $f^{\lambda} \in C^{\infty}([0,T];H^1)$ and

(3.8)
$$u_0^{\lambda}(x) = f^{\lambda}(x,0) + a(x,0)\partial^2 u_0^{\lambda}(x),$$

so $\{u_0^{\lambda}, u_1^{\lambda}, f^{\lambda}\} \in \mathcal{D}_2$. Since $f_t^{\lambda} \equiv h_t^{\lambda}$, (3.5) implies the second part of (2.7); moreover, from (3.8) and (2.2) we have

$$f^{\lambda}(x,0) - f(x,0) = u_2^{\lambda}(x) - u_2(x) - a(x,0)\partial^2(u_0^{\lambda}(x) - u_0(x)),$$

and therefore

$$||f^{\lambda}(.,0)-f(.,0)|| \le ||u_2^{\lambda}-u_2|| + ||a(.,0)||_{s-1}||\partial^2(u_0^{\lambda}-u_0)||,$$

whence the first part of (2.7) follows, by means of (2.6). Finally, (2.8) is a consequence of estimate (2.3), applied to the difference $u^{\lambda}-u$, with f replaced by $f^{\lambda}-f$, and (2.6), (2.7).

4. Proof of Theorem 4.

We now turn to the Neumann problem (1.5), and follow a similar procedure. At first, we choose sequences $\{u_0^{\lambda}\}$, $\{u_1^{\lambda}\}$ from $C^{\infty}([0,T];H^{\infty})$ such that (2.6) and (2.7) hold, and a sequence $\{h^{\lambda}\}$ from $C^{\infty}([0,T];\tilde{H}^{\infty})$ such that

as $\lambda \downarrow 0$, holds. Define, for $x \in \partial \Omega$,

$$(4.2) l_0^{\lambda}(x) \doteq a^{\nu}(x,0) \partial u_0^{\lambda}(x) - h^{\lambda}(x,0),$$

(4.3)
$$l_1^{\lambda}(x) \doteq a^{\nu}(x,0) \partial u_1^{\lambda}(x) + a_t^{\nu}(x,0) \partial u_0^{\lambda}(x) + h_t^{\lambda}(x,0):$$

then, since $a(.,0) \in H^s$ and $a_t(.,0) \in H^{s-1}$, l_0^{λ} and l_1^{λ} are in $H^{\frac{3}{2}}$, at least if $n \ge 2$. (If n = 1, $\partial \Omega$ reduces to two points, say $\{x_1, x_2\}$; g is in fact a pair of functions $\{g(x_1,.), g(x_2,.)\}$, and we choose sequences $\{h_1^{\lambda}\}, \{h_2^{\lambda}\} \in C^{\infty}([0,T])$, approximating g in the sense that

$$|h_i^{\lambda}(0) - g(x_i, 0)| \to 0, \qquad \int_0^T |h_i^{\lambda}(t) - g(x_i, t)|^2 dt \to 0$$

as $\lambda \downarrow 0$, for i=1,2). Consider now a function $\rho \in C_0^{\infty}(\mathbf{R})$, such that $\rho(r) \equiv 1$ in a neighborhood of r=0, and set

(4.4)
$$R_{\lambda} = \frac{1}{\lambda} (1 + \ll l_1^{\lambda} \gg \frac{2}{2}),$$

$$g^{\lambda}(x,t) \doteq h^{\lambda}(x,t) + l_0^{\lambda}(x) + t\rho(R_{\lambda}t)l_1^{\lambda}(x)$$
:

then, clearly, $g^{\lambda} \in C^{\infty}([0,T]; \widetilde{H}^{\frac{3}{2}})$, and

(4.5)
$$g_t^{\lambda}(x,t) = h_t^{\lambda}(x,t) + \left[\rho(R_{\lambda}t) + (R_{\lambda}t)\rho'(R_{\lambda}t)\right]l_1^{\lambda}(x).$$

Thus, from (4.2) and (4.3) we have that, since $\rho(0) = 1$,

(4.6)
$$g^{\lambda}(x,0) = h^{\lambda}(x,0) + l_0^{\lambda}(x) = a^{\nu}(x,0)\partial u_0^{\lambda}(x),$$

(4.7)
$$g_t^{\lambda}(x,0) = h_t^{\lambda}(x,0) + l_1^{\lambda}(x) = a^{\nu}(x,0)\partial u_1^{\lambda}(x) + a_t^{\nu}(x,0)\partial u_0^{\lambda}(x).$$

Since $\{u_0, u_1, f, g\} \in \mathcal{N}_1$, we have that $g(x, 0) = a^{\nu}(x, 0) \partial u_0(x)$, and therefore, by (4.6),

$$\ll g^{\lambda}(.,0) - g(.,0) \gg_{\frac{1}{2}} \le c \sum_{i,j=1}^{n} \|a_{ij}(.,0)\partial_{j}(u_{0}^{\lambda} - u_{0})\|_{1} \le c \sum_{i,j=1}^{n} \|a_{ij}(.,0)\|_{s-1} \|u_{0}^{\lambda} - u_{0}\|_{2};$$

thus, the first part of (2.9) follows from (2.6). Next, from (4.5) we have that

$$g_t^{\lambda}(x,t) - g_t(x,t) = h_t^{\lambda}(x,t) - g_t(x,t) + \chi(R_{\lambda}t)l_1^{\lambda}(x),$$

where $\chi(t) = \rho(t) + t\rho'(t)$; thus,

(4.8)
$$\int_{0}^{T} \langle g_{t}^{\lambda} - g_{t} \rangle_{\frac{1}{2}}^{2} \leq \int_{0}^{T} \langle h_{t}^{\lambda} - g_{t} \rangle_{\frac{1}{2}}^{2} + 2 \langle l_{1}^{\lambda} \rangle_{\frac{1}{2}}^{2} \int_{0}^{T} |\chi(R_{\lambda}t)|^{2} dt.$$

Now, by our choice (4.4) of R_{2} ,

$$\int_{0}^{T} |\chi(R_{\lambda}t)|^{2} dt \leq \frac{1}{R_{\lambda}} \int_{0}^{\infty} |\chi(s)|^{2} ds \leq c\lambda (1 + \ll l_{1}^{\lambda} \gg \frac{2}{2})^{-1},$$

and therefore the second part of (2.9) follows from (4.8) and the first part of (4.1). Finally, (2.8) follows from (2.6),(2.7) and (2.9), by means of estimate (2.4), with u, f and g replaced by $u^{\lambda}-u$, $f^{\lambda}-f$ and $g^{\lambda}-g$.

5. Proof of Theorem 5.

5.1. We assume that $A: \mathcal{U} \subseteq \mathbb{R}^n \to \mathbb{R}^n$ is a smooth function with symmetric derivatives, that is, setting $a_{ij} = \partial_i A_i$, $a_{ij} = a_{ji}$, and that (compare to (2.1))

(UE)
$$\exists \mu > 0 | \forall p \in \mathcal{U}, \ \forall q \in \mathbf{R}^n, \quad \sum_{i,j=1}^n a_{ij}(p) q^i q^j \ge \mu |q|^2.$$

To describe the natural compatibility conditions on the data at $\partial \Omega$ for t=0, we formally compute by recursion from (1.1) the functions

$$u_k \doteq (\partial_u^k u)(0)$$
 for $0 \le k \le s+1$

with their usual interpretation: i.e., for instance,

$$u_2(x) = f(x,0) + \text{div } A(\nabla u_0(x)),$$

 $u_3(x) = f(x,0) + \text{div } [A'(\nabla u_0(x)) \cdot \nabla u_1(x)],$

etc.; note that our assumptions on u_0 , u_1 and f guarantee that $u_k \in H^{s+1-k}$ for $0 \le k \le s+1$, and moreover, setting $\# \tilde{u}_0 \#_{s+1}^2 \doteq \sum_{k=0}^{s+1} \|u_k\|_{s+1-k}^2$,

$$\sharp \tilde{u}_0 \sharp_{s+1}^2 \le c \{ \|u_0\|_{s+1}^2 + \|u_1\|_s^2 \},$$

for suitable c>0 depending on $||u_0||_{s+1}$ and $||u_1||_s$. Also, we can define on $\partial\Omega$ the functions, that we formally denote by

$$a_{ij}^k(x) \doteq \partial_t^k(a_{ij}(\nabla u(x,t)))|_{t=0},$$

in the usual recursive way, that is for instnce

$$a_{ij}^{0}(x = a_{ij}(\nabla u_{0}(x)),$$

 $a_{ij}^{1}(x) = a'_{ij}(\nabla u_{0}(x)) \cdot \nabla u_{1}(x),$

etc.; again, we have that $a_{ij}^k \in \tilde{H}^{s-k-\frac{1}{2}}$.

Accordingly, we say that the data $\{u_0, u_1, f, \phi\}$ satisfy the compatibility conditions of order s if the following conditions hold on $\partial\Omega$:

(5.2)
$$v \cdot A(\nabla u_0) = \phi(.,0),$$

$$\sum_{r=1}^{k} \sum_{i,j=1}^{n} v_j \binom{k}{r} a_{ij}^r \partial_i u_{k-r} = \partial_i^k \phi(.,0) \quad \text{for } 1 \le k \le s.$$

5.2. We now sketch the main ideas of the proof of Theorem 5. At first, we recall from Shibata- Kikuchi, [18], that problem (1.1) has a unique local solution $u \in X^{s+1}(T')$, for some $T' \in]0,T]$, corresponding to $\{u_0,u_1,f,\phi\}$ satisfying the compatibility conditions of order s. Similarly, there is a unique $v \in X^{s+1}(T'')$, $T'' \in]0,T]$, corresponding to $\{v_0,v_1,g,\psi\}$ satisfying the same compatibility conditions; in the sequel, we rename T by min(T,T',T'').

We can differentiate (1.1) r times in t, for $1 \le r \le s-1$, and find that $\partial_t^r u \in X^{s+1-r}$

is solution of the problem

(5.3)
$$(\partial_t^r u)_{tt} - \alpha(x, t) \partial^2(\partial_t^r u) = F^r(x, t) \qquad \text{in } \Omega \times]0, T[$$

$$(\delta_t^r u)(x, 0) = u_r(x), \quad (\partial_t^r u)_t(x, 0) = u_{r+1}(x) \qquad \text{in } \Omega$$

$$\alpha^v(x, t) \partial(\partial_t^r u) = \Phi^r(x, t) \qquad \text{in } \partial\Omega \times]0, T[$$

with
$$\alpha = \{\alpha_{ij}\} \doteq \{\alpha_{ij}(\nabla u)\}, F' = \partial_t^r f + F_1^r, \Phi' = \partial_t^r \phi - \Phi_1^r, \Phi_1^1 = 0, \text{ and } \theta \in \mathcal{A}_{ij}^{r}$$

$$F_1^r \doteq \sum_{k=1}^r \binom{r}{k} \sum_{i,j=1}^n (\partial_t^k \alpha_{ij}) (\partial_t^{r-k} \partial_i \partial_j u) \qquad \text{for } r \geq 1,$$

$$\Phi_1^r \doteq \sum_{k=1}^r \binom{r-1}{k} \sum_{i,j=1}^n v_j \partial_t^k (\alpha_{ij}) (\partial_t^{r-k} \partial_j u) \quad \text{for } r \geq 2.$$

We have a similar set of equations satisfied, for $0 \le r \le s-1$, by $\partial_t^r v \in X^{s+1-r}$, with coefficients $\beta = \{\beta_{ij}\} \doteq \{a_{ij}(\nabla v)\}$, and G^r , Ψ^r defined analogously to F^r , Φ^r ; since $u, v \in X^{s+1}$, we have that $\alpha, \beta \in X^s$ and, as it is not difficult to verify, $F^r, G^r \in C^1([0,T]; L^2)$ and $\Phi^r, \Psi^r \in C^1([0,T]; \tilde{H}^{\frac{1}{2}})$ at least.

We now proceed first to establish the Lipschits type estimates for lower order norms in H^m , $1 \le m \le s$,

$$(5.4) |||u-v|||_m^2 \le \gamma (|||f-g|||_s^2 + \langle \langle \langle \phi - \psi \rangle \rangle)_{s-\frac{1}{2}}^2 + ||u_0 - v_0||_{s+1}^2 + ||u_1 - v_1||_s^2),$$

with γ depending on T, $|||u|||_{s+1}$ and $|||v|||_{s+1}$. The difference $\partial_t^r u - \partial_t^r v$ satisfies the equations

$$(\partial_t^r u - \partial_t^r v)_{tt} - \alpha \partial^2 (\partial_t^r u - \partial_t^r v) = F^r - G^r + (\alpha - \beta) \partial^2 \partial_t^r v,$$

$$(5.5.a) \qquad (\partial_t^r u - \partial_t^r v)(0) = u_r - v_r, \quad (\partial_t^r u - \partial_t^r v)_t(0) = u_{r+1} - v_{r+1},$$

$$\alpha^v \partial (\partial_t^r u - \partial_t^r v) = \Phi^r - \Psi^r + (\alpha^v - \beta^v) \partial^2 \partial_t^r v,$$

for $r \ge 1$ and

$$(u-v)_{tt} - \sum_{i,j=1}^{n} \partial_{i}(\alpha'_{ij}\partial_{j}(u-v)) = f - g,$$

$$(5.5.b) \qquad (u-v)(0) = u_{0} - v_{0}, \quad (u-v)_{t}(0) = u_{1} - v_{1},$$

$$\sum_{i,j=1}^{n} v_{i}\alpha'_{ij}\partial_{j}(u-v) = \phi - \psi,$$

for r=0 where $\alpha'_{ij} = \int_0^1 a_{ij} (\nabla (v + \theta(u-v))) d\theta$, and therefore, by Shibata, [17] (Thm.

3.8), it satisfies, for $0 \le r \le s-2$, the elliptic estimate

(5.6)
$$\|\partial_{t}^{r}u - \partial_{t}^{r}v\|_{s-r} \leq \|\partial_{t}^{r}f - \partial_{t}^{r}g\|_{s-r-2} + d_{r}\|F_{1}^{r} - G_{1}^{r}\|_{s-r-2}$$

$$+ d_{r}\|(\alpha - \beta)\partial^{2}(\partial_{t}^{r}v)\|_{s-r-2} + \ll \partial_{t}^{r}\phi - \partial_{t}^{r}\psi \gg_{s-r-3/2}$$

$$+ d_{r}\ll \Phi_{1}^{r} - \Psi_{1}^{r} \gg_{s-r-3/2} + d_{r}\ll (\alpha^{v} - \beta^{v})\partial(\partial_{t}^{r}v) \gg_{s-r-3/2}$$

$$+ \|\partial_{t}^{r+2}u - \partial_{t}^{r+2}v\|_{s-r-2} \equiv A_{1} + \dots + A_{2},$$

with M depending on $||u|||_{s+1}$ via the coefficients $\{\alpha_{ij}\}$ and $\{\alpha'_{ij}\}$, where $d_r=1$ for $r\geq 1$ and =0 for r=0. Following again Shibata, [17] (sct. 4), by means of Sobolev's product estimates and classical calculus inequalities we can estimate A_2 and A_5 in terms of $\sum_{k=0}^{s} ||\partial_t^k u - \partial_t^k v||_{s-k-1}$, with quantities that depend at most on $|||u|||_{s+1}$ and $|||v|||_{s+1}$; the same is true for A_3 and A_6 , keeping in mind that $\partial_t^k v \in C([0,T]; H^{s+1-k})$. Thus, summing all inequalities (5.6) for $0 \leq r \leq s-1$, and using the interpolation inequality

$$\|\partial_t^k u - \partial_t^k v\|_{s-k-1} \le c \|\partial_t^k u - \partial_t^k v\|_{s-k}^{1-a} \|\partial_t^k u - \partial_t^k v\|_{0}^a$$

with $a=\frac{1}{s-k}$, and adding the two extra terms for r=s-1 and r=s, we deduce the estimate

(5.7)
$$\sum_{k=0}^{s} \|\partial_{t}^{k} u - \partial_{t}^{k} v\|_{s-k}^{2} \leq M \{ \sum_{k=0}^{s-2} \|\partial_{t}^{k} f - \partial_{t}^{k} g\|_{s-k-2}^{2} + \sum_{k=0}^{s-2} \|\partial_{t}^{k} \phi - \partial_{t}^{k} \psi \gg_{s-r-\frac{3}{2}}^{2} + \sum_{k=0}^{s} \|\partial_{t}^{k} u - \partial_{t}^{k} v\|^{2} + \|\partial_{t}^{s-1} u - \partial_{t}^{s-1} v\|_{1}^{2} \}.$$

The last two terms of (5.7) can be estimated by means of the first order energy estimate (2.5) applied to (5.5) for $0 \le r \le s-1$; note, however, that when r=s-1 we can estimate $||F_1^{s-1} - G_1^{s-1}||$, etc., only in terms of $\sum_{k=1}^{s} ||\partial_t^k u - \partial_t^k v||_{s-k}$. Still, we obtain from (5.7) that

$$\begin{split} \sum_{k=0}^{s} \|\partial_{t}^{k} u - \partial_{t}^{k} v\|_{s-k}^{2} &\leq M \left\{ \sum_{k=0}^{s-2} \|\partial_{t}^{k} f - \partial_{t}^{k} g\|_{s-k-2}^{2} + \sum_{k=0}^{s-2} \ll \partial_{t}^{k} \phi - \partial_{t}^{k} \psi \gg_{s-k-\frac{3}{2}}^{2} \right. \\ &+ \sum_{k=0}^{s} \|u_{k} - v_{k}\|_{1}^{2} + \sum_{k=0}^{s} \|u_{k+1} - v_{k+1}\|^{2} \\ &+ \sum_{k=0}^{s-1} \int_{0}^{T} \|\partial_{t}^{k} f - \partial_{t}^{k} g\|_{s-k-1}^{2} + \sum_{k=0}^{s-1} \int_{0}^{T} \ll \partial_{t}^{k} \phi - \partial_{t}^{k} \psi \gg_{s-k-\frac{3}{2}}^{2} \\ &+ \sum_{k=0}^{s} \int_{0}^{t} \|\partial_{t}^{k} u - \partial_{t}^{k} v\|_{s-k}^{2} \right\}, \end{split}$$

from which, recalling (5.1),(5.4) follows by Gronwall's inequality.

5.3. We now consider the highest order norm $||u-v||_{s+1}$. Exactly in the same way we established (5.7), we obtain from (5.5) for $0 \le r \le s-1$ the estimate

$$\sum_{k=0}^{s+1} \|\partial_t^k u - \partial_t^k v\|_{s+1-k}^2 \le M \left\{ \sum_{k=0}^{s-1} \|\partial_t^k f - \partial_t^k g\|_{s-k-1}^2 + \sum_{k=0}^{s} \|\partial_t^k u - \partial_t^k v\|_{s-k}^2 + \sum_{k=0}^{s} \|\partial_t^k u - \partial_t^k v\|_{s-k}^2 + \|D^2 \partial_t^{s-1} u - D^2 \partial_t^{s-1} v\|^2 \right\};$$
(5.8)

thus, because of the lower order estimates (5.4), to estimate $||u-v|||_{s+1}$ it is sufficient to estimate $||D^2w-D^2z||$, where $w \doteq \partial_t^{s-1}u$ and $z \doteq \partial_t^{s-1}v \in X^2$. This we cannot do directly, because of the loss of regularity (that is, we cannot consider (5.5) for r=s); rather, we remark that from the boundary conditions in (5.3) for r=s-1 we deduce that, since $u_{s-1} \in H^2$ and $u_s \in H^1$, setting $F \doteq F^{s-1}$, $\Phi \doteq \Phi^{s-1}$, we have that $\{u_{s-1}, u_s, F, \Phi\} \in \mathcal{N}_1$. Thus, we can apply Theorem 4 to (5.3), and construct a sequence $\{u_{s-1}^1, u_s^2, F^{\lambda}, \Phi^{\lambda}\}$ from approximating $\{u_{s-1}, u_s, F, \Phi\}$ in \mathcal{N}_1 , and such that (from (2.8))

as $\lambda \downarrow 0$. Applying (2.4) to the difference $z - w^{\lambda}$ we obtain

$$||D^{2}z(t) - D^{2}w^{\lambda}(t)||^{2} \leq M\{||D^{2}z(0) - D^{2}w^{\lambda}(0)||^{2} + ||G(0) - F^{\lambda}(0)||^{2} + ||\tilde{B}^{\lambda}(0)||^{2} + ||\Psi(0) - \Phi^{\lambda}(0)||^{2} + ||\tilde{B}^{\lambda}(0)||^{2} + ||\Psi(0) - \Phi^{\lambda}(0)||^{2} + ||\tilde{B}^{\lambda}(0)||^{2} +$$

where $B^{\lambda} \doteq (\beta - \alpha)\partial^2 w^{\lambda}$ and $\tilde{B}^{\lambda} \doteq (\alpha^{\nu} - \beta^{\nu})\partial w^{\lambda}$. We split

(5.11)
$$C_1 \le 2M \{ \|D^2 z(0) - D^2 w(0)\|^2 + \|D^2 w(0) - D^2 w^{\lambda}(0)\|^2 \},$$

and similarly for the terms C_2 , C_4 , C_6 , C_8 ; we note that

(5.12)
$$||D^{2}z(0) - D^{2}w(0)||^{2} = ||v_{s-1} - u_{s-1}||_{2}^{2} + ||v_{s} - u_{s}||_{1}^{2}$$

$$+ ||v_{s+1} - u_{s+1}||^{2} \le \#\tilde{u}_{0} - \tilde{v}_{0}\#_{s+1}^{2}.$$

Next, we decompose $F_t - G_t = \partial_t^{s-1} g - \partial_t^{s-1} f + \partial_t G^{s-1} - \partial_t F^{s-1}$, and analogously for $\Phi_t - \Psi_t$; carrying out the differentiation and adding and subtracting similar terms, proceeding as in the estimate of A_2 and A_5 it is not difficult to obtain the estimate

Exactly in the same way, we also obtain

$$||G(0) - F(0)||^{2} + \ll \Psi(0) - \Phi(0) \gg \frac{2}{2}$$

$$\leq ||\partial_{t}^{s-1} g(0) - \partial_{t}^{s-1} f(0)||^{2} + \ll \partial_{t}^{s-1} \psi(0) - \partial_{t}^{s-1} \phi(0) \gg \frac{2}{2}$$

$$+ M \sum_{k=0}^{s} ||\partial_{t}^{k} u(0) - \partial_{t}^{k} v(0)||_{s-k}^{2};$$

finally, recalling that $\|\partial^2 w^{\lambda}(.,t)\|$ is uniformly bounded with respect to λ (and t), we have

(5.15)
$$||B_t^{\lambda}||^2 + \ll \tilde{B}_t^{\lambda} \gg_{\frac{1}{2}}^2 \leq M(1 + ||\partial^2 w_t^{\lambda}||) \sum_{k=0}^s ||\partial_t^k u - \partial_t^k v||_{s-k}^2,$$

(5.16)
$$||B^{\lambda}(0)||^{2} + \ll \tilde{B}^{\lambda}(0) \gg_{*}^{2} \leq M \# \tilde{u}_{0} - \tilde{v}_{0} \#_{s+1}^{2}.$$

Replacing $(5.11), \dots (5.16)$ into (5.10) we obtain

$$||D^{2}z(t) - D^{2}w(t)||^{2} \leq 2||D^{2}w(t) - D^{2}w^{\lambda}(t)||^{2} + 2||D^{2}z(t) - D^{2}w^{\lambda}(t)||^{2}$$

$$\leq M \left\{ ||D^{2}w(t) - D^{2}w^{\lambda}(t)||^{2} + \#\tilde{u}_{0} - \tilde{v}_{0} \#_{s+1}^{2} + ||D^{2}w(0) - D^{2}w^{\lambda}(0)||^{2} + ||f - g|||_{s}^{2} + \langle\langle\langle \phi - \psi \rangle\rangle\rangle_{\frac{1}{2}}^{2} + ||F(0) - F^{\lambda}(0)||^{2} + \langle\langle \phi - \psi \rangle\rangle_{\frac{1}{2}}^{2} + \int_{0}^{T} ||F_{t} - F_{t}^{\lambda}||^{2} + \int_{0}^{T} \langle\langle \Phi_{t} - \Phi_{t}^{\lambda} \rangle\rangle_{\frac{1}{2}}^{2} + \int_{0}^{T} (1 + ||\partial^{2}w_{t}^{\lambda}||^{2}) \sum_{k=0}^{s} ||\partial_{t}^{k}u - \partial_{t}^{k}v||_{s-k}^{2} + \int_{0}^{T} (1 + ||\partial^{2}w_{t}^{\lambda}||^{2}) \sum_{k=0}^{s} ||\partial_{t}^{k}u - \partial_{t}^{k}v||_{s-k}^{2} + \int_{0}^{T} (1 + ||\partial^{2}w_{t}^{\lambda}||^{2}) \sum_{k=0}^{s} ||\partial_{t}^{k}u - \partial_{t}^{k}v||_{s-k}^{2} + \int_{0}^{T} (1 + ||\partial_{t}^{\lambda}w_{t}^{\lambda}||^{2}) \sum_{k=0}^{s} ||\partial_{t}^{k}u - \partial_{t}^{k}v||_{s-k}^{2} + \int_{0}^{T} (1 + ||\partial_{t}^{\lambda}w_{t}^{\lambda}||^{2}) \sum_{k=0}^{s} ||\partial_{t}^{k}u - \partial_{t}^{k}v||_{s-k}^{2} + \int_{0}^{T} (1 + ||\partial_{t}^{\lambda}w_{t}^{\lambda}||^{2}) \sum_{k=0}^{s} ||\partial_{t}^{k}u - \partial_{t}^{k}v||_{s-k}^{2} + \int_{0}^{T} (1 + ||\partial_{t}^{\lambda}w_{t}^{\lambda}||^{2}) \sum_{k=0}^{s} ||\partial_{t}^{k}u - \partial_{t}^{k}v||_{s-k}^{2} + \int_{0}^{T} (1 + ||\partial_{t}^{\lambda}w_{t}^{\lambda}||^{2}) \sum_{k=0}^{s} ||\partial_{t}^{k}u - \partial_{t}^{k}v||_{s-k}^{2} + \int_{0}^{T} (1 + ||\partial_{t}^{\lambda}w_{t}^{\lambda}||^{2}) \sum_{k=0}^{s} ||\partial_{t}^{k}u - \partial_{t}^{k}v||_{s-k}^{2} + \int_{0}^{T} (1 + ||\partial_{t}^{\lambda}w_{t}^{\lambda}||^{2}) \sum_{k=0}^{s} ||\partial_{t}^{k}u - \partial_{t}^{k}v||_{s-k}^{2} + ||\partial_{t}^{\lambda}w_{t}^{\lambda}||_{s-k}^{2} + ||\partial_{t}^{\lambda}w_{t}^{\lambda}||_{s-k}$$

Recalling (5.9), we have that

$$D_1 + D_3 + D_6 + D_7 + D_8 + D_9 \le k(\lambda),$$

with $k(\lambda) \downarrow 0$ as $\lambda \downarrow 0$; thus, from (5.17) we obtain

$$\begin{split} \|D^{2}z(t) - D^{2}w(t)\|^{2} &\leq k(\lambda) + M\{\#\tilde{u}_{0} - \tilde{v}_{0}\#_{s+1}^{2} + \|\|f - g\|\|_{s}^{2} \\ &+ \langle \langle \langle \phi - \psi \rangle \rangle_{s-\frac{1}{2}}^{2} + \int_{0}^{t} (1 + \|\partial^{2}w_{t}^{\lambda}\|^{2}) \sum_{k=0}^{s} \|\partial_{t}^{k}u - \partial_{t}^{k}v\|_{s-k}^{2}\}. \end{split}$$

Adding this to (5.8), and recalling the lower order estimates (5.4), we obtain that

(5.18)
$$|||u-v|||_{s+1}^2 \le k(\lambda) + M\{\#\tilde{u}_0 - \tilde{v}_0 \#_{s+1}^2 + |||f-g|||_s^2 + (4-\psi)\}_{s-\frac{1}{2}}^2 + (1+r(\lambda))T|||u-v|||_s^2\},$$

where the function $r(\lambda) = \max_{0 \le t \le T} \|\partial^2 w_t^{\lambda}(t)\|^2$ is not necessarily bounded as $\lambda \downarrow 0$. By (5.4) with m = s, we deduce from (5.18) that

(5.19)
$$|||u-v|||_{s+1}^2 \le k(\lambda) + M(1 + (1+r(\lambda))T)\{|||f-g|||_s^2 + \|(\phi-\psi)\|_{s-\frac{1}{2}}^2 + \|u_0-v_0\|_{s+1}^2 + \|u_1-v_1\|_s^2\};$$

therefore, to conclude the proof of Theorem 5, given $\varepsilon > 0$ it is sufficient to first fix $\lambda = \overline{\lambda}$ so that $k(\overline{\lambda}) \le \frac{1}{2}\varepsilon^2$, and then to choose $\delta > 0$ so that $M\delta^2(1 + (1 + r(\overline{\lambda}))T) \le \frac{1}{2}\varepsilon^2$: from (5.19) with $\lambda = \overline{\lambda}$ we deduce that $||u - v|||_{s+1} \le \varepsilon$.

Acknowledgements.

This work was written while the first author was visiting the University of Tsukuba under a grant from JSPS. The support of JSPS, and the kind hospitality of the Institute of Mathematics of the University of Tsukuba are gratefully acknowledged.

References

- [1] H. Beirão DaVeiga: Perturbation Theory and Well-Posedness in Hadamard's Sense of Hyperbolic Initial-Boundary Value Problems, Preprint nr. 2.71 (582), Dip.Mat.Univ.Pisa (1991) (to appear).
- [2] ——, Data Dependence in the Mathematical Theory of Compressible Inviscid Fluids, Arch. Rat. Mech. Anal. 119 (1992), 109-127.
- [3] ——, Structural Stability and Data Dependence for Fully Nonlinear Hyperbolic Mixed Problems, Arch. Rat. Mech. Anal. 120 (1992), 51-60.
- [4] ———, Well-Posedness and Singular Limits in the Theory of Compressible Inviscid Fluids, Proc. RIMS Symp. Kyoto; RIMS Kokyuroku Ser., nr. 824 (1992), 116-137.
- [5] ———, Perturbation Theorems for Linear Hyperbolic Mixed Problems and Applications to the Compressible Equations, Comm. Pure Appl. Math. 46 (1993), 221-259.
- [6] W. Dan: On the Neumann Problem for Some Linear Hyperbolic-Parabolic Coupled Sytems with

- Coefficients in Sobolev Spaces, Tsukuba J. Math. 18/2 (1994), 411-437.
- [7] M. Ikawa: Mixed Problems for Hyperbolic Equations of Second Order, J. Math. Soc. Japan 20/4 (1969), 580-608.
- [8] M. Ikawa: A Mixed Problem for Hyperbolic Equations of Second Order with Nonhomogeneous Neumann Thee Boundary Conditions, Osaka J. Math. 6 (1969), 339–374.
- [9] T. Kato: Abstract Differential Equations and Nonlinear Mixed Problems, Fermian Lectures, Pisa, 1985.
- [10] K. McLeod A. Milani: Global Existence and Asymptotic Results for Quasilinear Parabolic Equations., Forthcoming.
- [11] A. Milani: Long Time Existence and Singular Perturbation Results for Quasilinear Hyperbolic Equations with Small Parameters and Dissipation Term, II, Nonl. Anal., TMA 11/2 (1987), 1371-1381
- [12] -----: Well Posedness and Singular Limits for Quasilinear Dissipative Hyperbolic Equations, Forthcoming.
- [13] A. Milani Y. Shibata: On the Strong Well-Posedness of Quasilinear Hyperbolic Initial-Boundary Value Problems, Preprint (1993).
- [14] S. Miyatake: Mixed Problem for Hyperbolic Equations of Second Order, J. Math. Kyoto Univ. 13/3 (1973), 435-487.
- [15] J. Rauch F.J. Massey, III: Differentiability of Solutions to Hyperbolic Initial Boundary Value Problems, Trans. AMS 189 (1974), 303–318.
- [16] Y. Shibata: On the Neumann Problem for Some Linear Hyperbolic Systems of Second Order, Tsukuba J. Math. 12/1 (1988), 149-209.
- [17] ———: On the Neumann Problem for Some Linear Hyperbolic Systems of Second Order with Coefficients in Sobolev Spaces, Tsukuba J. Math. 13/2 (1989), 283-352.
- [18] Y. Shibata M. Kikuchi: On the Mixed Problem for Some Quasilinear Hyperbolic Systems with Fully Nonlinear Boundary Conditions, J. Diff. Eqs. 80/1 (1989), 154-197.
- [19] Y. Shibata G. Nakamura: On a Local Existence Theorem of Neumann Problem for Some Quasilinear Hyperbolic Systems of Second Order, Math. Zeit. 202/1 (1989), 1-64.

Albert Milani Department of Mathematics University of Wisconsin-Milwaukee Milwaukee, WI 53201, USA

Yoshihiro Shibata Institute of Mathematics University of Tsukuba Tsukuba-shi, Ibaraki 305, Japan.